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GARNALTERNATIV:	
  Viking	
  Björk	
  (	
  90%	
  bomull,	
  
10%	
  merino	
  ull),	
  Viking	
  Alpaca	
  Silk	
  (	
  50%	
  alpacka	
  ,	
  
50%	
  silke),	
  nystan	
  à	
  50	
  gr.	
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Stickor	
  och	
  tillbehör:	
  Rund	
  och	
  strumpsticka	
  nr	
  2	
  ½	
  
och	
  3.	
  

	
  

Stickfasthet:	
  25	
  m	
  slätstickning	
  på	
  st	
  nr	
  3	
  mäter	
  ca	
  10	
  
cm.	
  Viktigt	
  att	
  stickfastheten	
  hålls	
  för	
  ett	
  lyckat	
  
resultat.	
  	
  

	
  

Mönster	
  A:	
  	
  

Varv	
  1:	
  1	
  m	
  rätt	
  *	
  Lyft	
  av	
  1	
  m	
  löst,	
  1	
  m	
  rätt,	
  dra	
  den	
  
lyfta	
  m	
  över.	
  Sticka	
  2	
  m	
  rätt	
  tills,	
  6	
  m	
  rätt,	
  1	
  omslag,	
  1	
  m	
  
rätt,	
  1	
  omslag,	
  6	
  m	
  rätt	
  *.	
  Upprepa	
  från	
  *	
  till	
  *.	
  Sluta	
  med	
  
5	
  m	
  rätt	
  och	
  2	
  m	
  rätt	
  tills.	
  

Varv	
  2:	
  Avigt.	
  

	
  

Lägg	
  upp	
  på	
  st	
  nr	
  3,	
  306	
  –	
  323	
  –	
  340	
  m	
  och	
  sticka	
  2	
  v	
  
rätstickning	
  (=	
  1	
  v	
  rätt,	
  1	
  v	
  avigt),	
  därefter	
  mönster	
  A	
  
(se	
  beskrivning	
  ovanför)	
  som	
  upprepas	
  4	
  gånger.	
  	
  
Sticka	
  nu	
  1	
  v	
  slätstickning	
  där	
  det	
  minskas	
  18	
  –	
  19	
  –	
  20	
  
m	
  jämnt	
  fördelat	
  (=1	
  m	
  i	
  vart	
  fält).	
  Det	
  är	
  nu	
  288	
  –	
  304	
  
–	
  320	
  m	
  på	
  v.	
  Sticka	
  mönster	
  B.	
  	
  

Efter	
  mönster	
  B	
  stickas	
  slätstickning	
  och	
  minska	
  på	
  1:a	
  
v	
  jämnt	
  fördelat	
  till	
  232	
  –	
  244	
  –	
  264	
  m.	
  

Fortsätt	
  med	
  slätstickning	
  samtidigt	
  som	
  det	
  minskas	
  8	
  
–	
  7	
  –	
  8	
  m	
  jämnt	
  fördelat	
  ca	
  var	
  6:e	
  cm	
  till	
  det	
  är	
  208	
  –	
  
223	
  –	
  240	
  m	
  på	
  stickan	
  och	
  arb	
  mäter	
  ca	
  43-­‐45-­‐45	
  cm.	
  
Justera	
  maskantalet	
  på	
  storlek	
  medium	
  till	
  224	
  m.	
  Sätt	
  
ett	
  märke	
  i	
  var	
  sida	
  med	
  105	
  –	
  113	
  –	
  121	
  maskor	
  till	
  
framstycket	
  och	
  103	
  –	
  111	
  –	
  119	
  maskor	
  till	
  bakstycket.	
  	
  
Sticka	
  mönster	
  B.	
  Byt	
  till	
  st	
  nr	
  2	
  ½	
  och	
  sticka	
  6	
  v	
  
rätstickning.	
  Maska	
  av	
  de	
  103	
  –	
  111	
  –	
  119	
  m	
  till	
  
bakstycket.	
  	
  	
  

Framstycket:	
  Sticka	
  slätstickning	
  fram	
  och	
  tillbaka	
  och	
  
öka	
  på	
  1:a	
  v	
  för	
  byst	
  så	
  här:	
  Sticka	
  19	
  –	
  20	
  –	
  20	
  m,	
  öka	
  9	
  
–	
  10	
  –	
  11	
  m	
  jämnt	
  fördelat	
  över	
  nästa	
  24	
  –	
  27	
  –	
  30	
  m,	
  
sticka	
  19	
  –	
  19	
  –	
  21	
  m,	
  öka	
  9	
  –	
  10	
  –	
  11	
  m	
  jämnt	
  fördelat	
  
över	
  nästa	
  24	
  –	
  27	
  –	
  30	
  m	
  och	
  avsluta	
  med	
  19	
  –	
  20	
  –	
  20	
  
m	
  rätt.	
  Fortsätt	
  med	
  slätstickning	
  samtidigt	
  som	
  det	
  
minskas	
  1	
  m,	
  1m	
  innanför	
  kantmaskan	
  i	
  var	
  sida	
  på	
  
vart	
  rätt	
  varv	
  så	
  här:	
  Sticka	
  1	
  m	
  rätt	
  (=	
  kantmaska	
  som	
  
hela	
  tiden	
  stickas	
  rätt).	
  Lyft	
  av	
  1	
  m	
  löst,	
  sticka	
  1	
  m	
  rätt,	
  
dra	
  den	
  lyfta	
  m	
  över.	
  Sticka	
  till	
  det	
  är	
  3	
  m	
  kvar	
  på	
  v.	
  
Sticka	
  2	
  maskor	
  rätt	
  tills	
  +	
  1	
  kantm.	
  När	
  framstycket	
  
mäter	
  ca	
  7	
  –	
  8	
  –	
  9	
  cm,	
  maska	
  av	
  den	
  mittersta	
  maskan	
  i	
  
arb	
  och	
  var	
  del	
  stickas	
  för	
  sig.	
  	
  Fortsätt	
  som	
  förut	
  och	
  
minska	
  1	
  m	
  i	
  början	
  och	
  i	
  slutet	
  av	
  det	
  räta	
  v	
  till	
  det	
  är	
  
19	
  m	
  kvar	
  på	
  v.	
  Sticka	
  mönster	
  C	
  =	
  axelband.	
  Sticka	
  till	
  
axelbanden	
  mäter	
  ca	
  26	
  –	
  28	
  –	
  30	
  cm.	
  Maska	
  av.	
  Sticka	
  
den	
  andra	
  delen	
  lika.	
  	
  

Sy	
  fast	
  axelbanden	
  i	
  den	
  avmaskade	
  kanten	
  på	
  
bakstycket	
  med	
  10	
  cm	
  emellan	
  axelbanden.	
  Fäst	
  en	
  
resår	
  med	
  korsstygn	
  på	
  insidan	
  av	
  rätstickningskanten	
  
under	
  bysten.	
  Fäst	
  alla	
  lösa	
  trådar	
  snyggt	
  på	
  avigan.	
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